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becomes increasingly whiter, proving the particles survived.

Resu Itl n g DASome parts of the central region appear less white because of the average betw

phase planes because some planes have no data at tdjsposition.
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Reduction to one RF section

From 4 RF cavities at 400MHz evenly distributed in the ring (one in each straight
section) tol RF sectiomcluding 400 MHz RF cavities and 800 MHz RF cauvities.



Normalised amplitude Ax(¢)

Normalised amplitude Ax(¢)

Single RF section for the LCC lattice (nominal

LCC_V24.3 | Epeam=182.5 GeV, lpeam=5MA (N=2.02E+11ppb), 50 turns
&=2.12nm.rad, €,/€x = 2%eo, 05=0.148%, 0,=1.8mm, B;vy={1.00m, 1.6mm}
V+400|800MHz=2.10GV|9.20GV, Qyys={350.205, 266.294, 0.115}, Crab waist=40%

50
20 e e e
‘ I ‘ 40
10 ‘.__ _____________________________________
e}
308
2
0 2
20§
10 S -
i i : : 10
20 Single RF sectimametotal RF voltage
4 u Y y y 0
=3 —2 =i 0 1 2 3
6 [%]
-20 =15 -10 -5 0 5 10 15 20
6 [02R]

LCC_V24.3 | Epeam=182.5 GeV, lpeam=5mA (N=1.77E+11ppb), 50 turns
&¢=2.12nm.rad, €,/ex = 2%o, 05=0.148%, 0,=1.9mm, B;‘y={1.00m, 1.6mm}
V£ 400|800MHz=2.00GV|8.74GV, Qyys={350.205, 266.294, 0.107}, Crab waist=40%
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LCC_V24.3 | Epeam=182.5 GeV, lpeam=5MA (N=1.77E+11ppb), 50 turns
&¢=2.12nm.rad, €,/ex = 2%eo, 05=0.148%, 0,=2.1mm, B;‘y={1.00m, 1.6mm}
V/r 400|800MHz=1.87GV|8.19GV, Qy,s={350.205, 266.294, 0.095}, Crab waist=40%
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LCC_V24.3 | Ebeam=182.5 GeV, lpeam=5mA (N=1.77E+11ppb), 50 turns
€,=2.12nm.rad, €,/e, = 2%, 05=0.148%, 0,=2.4mm, B;y={1.00m, 1.6mm}
Vs 400|800MHz=1.78GV|7.82GV, Qys={350.205, 266.294, 0.084}, Crab waist=40%
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Attempt to get the same
synchrotron tune as GHC lattice
(Q=0.089).

The energy loss per turn is smaller
for LCC by 102%,

but the momentum compaction
factor is largeh 5,=7.5e6 and
h & 8.8e6

Is it important to get to @-0.089
with the LCC lattice ?



MA comparison between SAD &
Xsuite for theGHC latticeand
againstLCC lattice






